ANSWERS TO: Zeb’s Quiz 01

A. FILL IN THE MISSING WORDS:

LOW...HIGH

LEVEL....FIT

SHORTEST....LOWEST

BID SOME MORE....COME ALIVE
ONT (“2-EN-TEE”)...6NT (“6-EN-TEE”)

AR ol

B. BIDDING

Hand 3 is correct.

Hand 1 would have opened longest suit, 1¢b, then rebid 2% - to show 5:4+
Hand 2 would have opened 1%, but then supported spades - to 44

C. LEADING

A. ¥9 (high hate = no honour, longest suit)

B %] (top of a sequence of three, longest suit)

C ¥] (top of sequence of two from three cards, unbid major)



